
10125/23 Deadlocks

-> cycle of waiting threads blocked on each other
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-> Necessary Conditions For Deadlock
& Bounded Resources : finite instances of eachresource
② No Preemption : resource can't be toribly taken away
③ Holde wait : hold on to resource while waiting
④ Circular wait : cycle of waiting
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What to do ? Climit code behavior)

① Prevention : when writing rode, break one of the 4 conditions for
deadlock .

② Avidance : system controls resource access & scheduling to avoid

③ Detection : let things be, detect a recover when there's
deadlock .
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Circular wait: ordering .
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Deadlock Avoidance have a way
-> system grants access to resource, candelay fulfilling requests A to grant

all

-> needs to know maximum resources each thread needs . may requests-Safe .

- max eventually

allows. I
A B C DE 12 avail : 5

1-1010
(1) (2) (2) (2) (2)

~ avail = 4
,
tobeavat :5

At10000 -

Both as "O avail : 3- S
3

23 (i) (2) (2) avail
S
3
.

c
+ Y" 1100

to bearal==2 , 3, 4,5
# (1) 2) (4) (1) 12) -& -O avail=1 .⑧ 0D 1 1

. 110 -
-

~ I
2)

th (() afe stat . to beauail=0 ->* uns
-

E 16 It / avail &
- ... -




